O0beM NPAMOYIoJIbHOIO
napaJjuiejenumneaa.
Eaqnanusi o0LeMma.



Obbem Kyba

NinHa pebpa O6bLem Kyba

i

a=1 MM V=1Mmm?
a=1 cm V=1lcwm?
a=1 oM V=1 n1m?
a=1 m V=1m?

a=1 km V=1xkm?



» Kyb, pebpo koToporo paBHO NMHEWHOW
eWUHULLbI, HA3bIBAOT eAUHUYHbLIM KYOOM.
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Obvem npamoy20ibH020

napanienenuneoa.
V=a'b-c

Obvem kyoa: V=a’




lem’=10 - 10 - 10 Mm*=1000 mm?

1am*=10 - 10 - 10 eM’=1000 cm?

1 im*=100 - 100 - 100mm°=1000 000 Mm*
Im*=10 - 10 - 10 am*=1000 gm*
Im*=100 - 100 - 100em*=1000 000 cm’

Im*=1000 - 1000 - 1000cMm*=1000 000 000 cm?

1kM®=10 - 10 10 M*=1000000000 m>=10"m3






* BbinonHutb N2 510, 511, 512(a,0), 513(a,0),
514.

* [/3
 Ne 512(B,r), 513(B,r).



